
1

I =

∫ 0

1

x2(1− x)7 dx を求めなさい．
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【答】 − 1
360

【解答】

I =

∫ 0

1

x2(1− x)7 dx

t = 1− xとおくと

dt = −dx
x 1 −→ 0

t 0 −→ 1

であるから

I =

∫ 1

0

(1− t)2t7 · (−1) dt …… 1⃝

= −
∫ 1

0

(t7 − 2t8 + t9) dt

= −
[
t8

8
− 2 · t9

9
+ t10

10

]1
0

= −
(
1
8

− 2
9

+ 1
10

)
= − 45− 80 + 36

23 · 32 · 5
= − 1

23 · 32 · 5
= − 1

360
……（答）

である．

• 1⃝以降は部分積分法を用いてもよい (最初から部分積分法を用いることもできる)．

I = −
∫ 1

0

(1− t)2t7 dt

= −
[
(1− t)2 · t8

8

]1
0
+

∫ 1

0

2(1− t)(−1) · t8

8
dt

= − 1
4

∫ 1

0

(1− t)t8 dt

= − 1
4

[
(1− t) · t9

9

]1
0
+ 1

4

∫ 1

0

(−1) · t9

9
dt

= − 1
36

[
t10

10

]1
0

− 1
360

である．


